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Kl
x
I3
i T G EOE g
1)
CIE
1 RN
= 18 |
3 =] — - —
=z -

EEm2EFH B v=10° wER
1. $8H 100.1’ 1'0'0.15! 100.2’ 10925 .. oo i {5,
2. HlOwRFERTE:
1, 1.5, 2, 2.5« [Bi] 4 6.5=100-813]
5. fEy=10° 69 [H £ £ R 10°%, 10 gy {7 T 2% R
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10%3% 10%* gy i 3§ BF 45 A% &% S 1 100-3%0-4 g 107 B i,
4 Bk o B b Ag{E S 2=100, 3=10% & 2X3
=10axX 102=10042, 2% B #8 L 7k 10°" gy fE:E AR TE R
By g HE? |
5. WTRFHMZNEELTHESRMZ2E,
2.65% 1.7=10""-X 10"+
T
=10
BHREREXABETNEHHEE
AESARTAE RE:
6. 3.75%2. 7. (2.5)%
8. 1.45%x5.25%1.15. 9. 1.6%2.7%x1.9.
10. 3k a A1 b, & 9=10%, 2=10% I 9-=-2=105=10}
=102, 4% [ £ |k ok 109 5o {38 1 15 I RE1B?
U TR PR EEE
 2.65-1.7=10- =10

=10 "-—""
=10---

JA B B: 2k 5 BT 45 80 B R

hi [ AR B TR

12. 9.75-4. 13. 5.25->-4.85.

14, 3.75%5.9-2.7. 15. 8.65%6.75--7.85.
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= H

161, ko Fo BT W &9 B R 19
103=1000,
102=100,
101=10,
10°=1,
100813 =g.5

100-335.=2.16,

— e a"=N.
REMXFRReHWcRFEN, 2 FRE, N
By B B 4 3 o BTz R N, S % ok BF L
183 53 a0 B Nne ok o, 9588 8 R
I F=a.
= WRHL 38 B, a W N 68 o % 7 AR JE BY O o B 4,
BN b, e — AN E RN I08ET
REHF—RUBRELEME T N e B 1 U4
WEMERc ERc WEN, s U e BE N g%
E a1
lag, N=x.
MEEEESE N EUKAEEW e, 5, NS
2 b9 0 B 4% 2 0 o0, 7 UL IR 7 R %, B 00 UK 0K 98
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%ﬁ@%ﬁ%ﬁ?ﬂm\:@:,?ﬁ@m_{:&ﬂ’ﬁ HHREBZE—~
18 B A8 IS 2L

Tl — M8 mE REHME H H ¥
(x),E)EzzN%ﬁAa”H?F B 35 B

‘log, a=1.

oo BREFRL
S log, 1=0,

(PIEL KR2ME S HE,
sy 28=8.

log, 8=3.
(BlfER) OERHEEMEESHEE??
HE 72=49,

log; 49=2.
BmEEET
OB BE 3) AT BE BB 6 i S o9 BB 32
WA 63=216, ‘

logg 216=3.

B 216 % 3 6 18 1 89 % BUE 5
T E - - =

BTAEXKRmEBKE:
1. logi16=. ‘ 2. log,; 25=1.
- 3. Iogs % =1 4. logg8i=y.
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5. logs 125 ==x. .6. loge 3 ==.
| 7. log,64=2. 8. log,121=2.
9. log,625=4. 10. log,81=4.
11. log.36=2. 12. log, 64=6.
© 13, loggax=0. ) 14. logzy=1.
15. logg z=4. 16. logszz=3.
17. logyy=3. 18. log,y=09.

W OH 8 %

162,  ra10 4 1iE 00 SHBLY 0% BB, R 9 5

EHEA:

| e 100=1, . logie 1=0,
10t =10, logge 10=1,
102=100, logy, 100=2,
108=1000, logqe 1000=3,
10#=10000, logye 10000 =4.

4Gsssevesnesnes Sss ecatsstosscusen san

H k- &%ﬁm&ﬁlﬂ&%mmﬁlmm¢
i, en '
1£L— §r B <10,
BB ﬁﬁ 10 3] 99, 4% 14 &% 78 10 ﬁl 100 s
B, &
10L— fir % 2r<100.
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[l 4%,
100L= {7 3% B <1000,
1000.£19 f7 3 $<<10000,

0Llogs, (— fir 26 B0 <1,
1Llogye (= Br B2 B <.
210819 (= fr 2 ) <3,
Llogyo (15 r e B <4
3 b 55 B, 06 R
—pr B BEH=0+E,
SR ESWEHE=1+IE
SR &y E =2+ D
g 47 3% 8% 80 B =3+ %

s E A
s 100 =1, o logye 1=0,
10-1=0.1, logye 0.1=—1,
10-2=0.01, logse 0.01=—2,
10-3= 0.001, 1ogsp 0.001=—3,
10%=0.0001, - logyg 0.0001 = —4.

ETRBRBEE RMENES S EE—
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WL 55— fr /b B, 0.04, 0.0551 &8 B} 55 — £ 4 B
R
018 — fir /b F<1,
0.01LE — fr /b #<0.1,
0.001.L% = fi /b B<0.01,
0.0001.L%5 P4 iz > <0.001,

e ace

fr Yis
—1£logye 5B — fF /b B<<O,
—2Llogyy 58 = 1 /b <1,
—38Llogys 55 = fir /b Br<-2,
—4Llog, 88 19 i /b Br<<—3,
a4y 55 S, B R

8 — 0 b B89 B = -1+ B
5 =B Bom B Br=— 240 3,
ESRA BN B =3+ 8, @
%E&&ﬂ%%ﬁ-%+¢%

ese’l

H @) (2)%7@3}’5,—-@%39 s HBEEAEARY
(IE # 5% & 6)F /0 3 (I #9) 7 45 4, 58 % B 4, Uit
B 60 8T A B A s B IR B

fa 320, 32, 3.2, 0.32, Air 0.032 #9 ¥ Bk ik % &5 2.5051,
1.5051, 0.5051, —140.5051, —2-+-0.5051; 3 8% 2,1,0,-1,-2



Et+tEtE BEMEEK b5

R 1R & A 2 0.5051 5% ) B

103, i &7 @ (1) F 48 5, — £ 2% % 60 2 20 &0 38 4
B A7 BE? - fr B 3 ad UB?= {r Zk B 6y 1B?

B

N AL BH A E MRS R v

Bl 4 5430, 543, 543 64 B B 4 B 4, 3, 2 KA 1 85 B
B 3.7348, 2.7348, 1.7348 s 5 &= B 3, 2, 1.

iy B B (D) A A 5 — L A B 6 I g 49 0
B A RS — fr /b B e WE?ES = A By UB?

A B B B 55— R b 3%, b B A 1 02

A E S R, R e & E 07

N BREE B 85 = R B, b B A 5 E 07

B Bl :
INELEE BN A 19 B T WA B b R
HEANE, s 8 WA BB ER
— (N+1). '

B 4 0.317, 0.0317, 0.00317 Jh B B Bl &8 —fr W= E &
A 0,1,2 f@ O, & 19 i 8 8, —140.5011, ~24-0.5011,
—340.5011 g8 B —1, —2, — 3.

B2 FHTASEOE HSBGRET S,
23.4, 150.607, 0.9, 0.0074,,0.00032, 3.1416.

164, mamenMan:



56 | B BE % B OE A& (PF)

55700 =10% X 5.57,
5570=10%%5.57,
557 =10%% 5.57,
55.7 =101 X 5.57,
5.57 =5.57,
0.557 =101 x 5.57,
0.0557 =102 5.57,
0.00557 =10-3% 5.57.
LAARUESBOBEWEESE T
7 35 & e WY — B Bowg B8R A BER
e —HE 0B HES A B 0.7459, 8l k
B 25 38 4 B 60 B B B AT BERA B B 09 R B AT BR?
Br Y
BT MBES AR EEER EA 0, B
NEEEARWO) WEMEHE KR E® 2
A8 [ W,
HYERMBEBKERRZRTU —-E RS,
] 4w 79000, 7900, 0.079, 0.0079 5% 8% f B Bt 69 12 B &

B 0.8976, i 4k 1 65 B BB 4.8976, 3.8976,— 24 0.8976,
—340.8976.

W DIEE T H R M AL B A K R B BT logs
4, 8L & logyp o ,



B EE ORBEW YR 57

I R By A &

165. T3 2 % 5% 5 # 49 % 00 — 35 4.7

0 1 2 3 | 4] 5 6 7 | s 9

55 | 7404 | (7412 17419 | .7427 | 7435 | 7443 | 7451 | 7459 | 7466 | .7474
56 {.7482 | .7490 | .7497 | .7505 | .7513 | .7520 1 .7528 | .7536 | .7543 | .7551
57 1.7559 | 7566 .Y574] .7582 | .7589 | .7597 | .7604 | .7612 [ .7619 | .7627
58 |.7634 | 7642 ) .7649 | .7657 | 7664 ] .7672 | .7679 | .7686 | .7604 | 7701
59 |.7709 | .7V16 [ 7723 | 7731 ) 7738 .77451 Y762} Y760} 7767 | 7774
60 |.7782|.7789 | .7796 | .7803 | .7810 | .7818 | .7825 | .7832 ] .7839 | .7846
61 | .7853 {.7860 | .7868 ; .7875 | .7882 | .7889 | .7896{ .7903 | .7910{ .7917
62 |.79241.7931|.7938 | .7945 | .7952 1.7959 | .7966 | .7973 | .7980 | .7987
63 |.7993 { .8000 ) .8007 } .8014 | .8021 ) .8028 } .8035 | .8041 ) .8048 | .8055

e b 8 72— 47 A G5 — Bk, A0 B, 3 B 49 B A 1B
4 SE 2 69 % 0 B
JB W 2 F B % B —
— 18 B A HE RO B B |
() e b o B R A B0 B4, TE B AR
i,
() /b Bao 8, R RS v B0 00 4 BT
e R T B0, 35 4 R 2 45 .
kA R — 18 B B 66 B
i) {5 3 B Yo 5 K v B 5 G B L
(v) 8 78 Ve  H6 B89 b K B 8 B 2
BIED sk 58.2 64 % K,

CCEARMELNE SN, E B E S T 55 5
o Ao ik 2 m kA BB : ,



- 58 B MR B % A (P

ERE WM SRS L
EhMANSE—FEBSS HBEATHEH 28—
17, 18 0.7649,
log 58.2 =1.7649.
(B FE2) logx=2R.7832, 3k =.
iy 3 7 15 0.7832 72 60 5 — Bk, 7 9 — 47, F B = %0 B
5 5 & 607.

REL 2 EEE=frE&y .. z=607.
BE——_=@O %
HEEROBEZTHB TS EHGHZ:
1. 3.14. L 141, 3. 6.7.
4. 9, 5. 8.88. 6. 1.03.

HERPEEMBER TASTHEN =M FER
FHERBEFEE KRR R EHEN— @
7. 0.6628. 8.  0.6990. 9. 0.7284.
10.  0.8471 11 0.9140. 12.  0.9820.

166, 2 75 5 2 % % — 1 D9 £ B 69 4 G 69 2§ B,
B 4m 5.543 69, 3= B 3B 5.54 69 BB 0.7435, Wi fE A
B EHATPEE L3 — 1T M 07435 — P ah B 2 2;
P L1 5.543 69 35 B 5 75 0.7435 5k — fr i 25 Bt £ 0.7437.

FE~-~—_@mMm®

EHAFEOHE B
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1. 6.789. 2. A 9.876. 3. . 2.056.
5 0 R T & 8 B 60 19 £ Bt
4. 0.4396. ' b. O.éé? 8. 6. 0.6617.
7. 0.6932. 8. 0.4261. 9. 0.2689.
5 W 5 B 6 B B |
10. 27.2%. 11. 451.5. 12. 1728.
i3. 625. 4. 60000. 15. 75.79.
AR HE R T B & 5 9 6 0 G B
16. 2.8657. 17. 4.9515. 18. 3.9562.
- 19. 1.9031. 20. 2.4419. 21. 5.5555.

A BHEwmEER

167. (1) loga(ay) =log, z+log. s.
i log, z=m, log, y=mn,
il z=a™, y=a".
. xy =g™.q"=g™*?,
v s log, (zy) =mtn=log, x+log, .
EARTURS K%
]_ogu(xyz... ree) = ]_oga z+ 10ga yt 10ga L

RN RN SRS BN
H B WAL

@ }og.(%):logaxfloga 7.
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logoz=m, log,y=n,

u
[ d
Y z=a", y=a"
E:?Z:a,m_",
y a

log @) =m—n=log, z—log, v.

B0, T 5 7 2, 5 R v B Bk

* BB B,
3) log. x?=éJ log, .
B log, z=m, B z=a™.

S aP=(a™)? =qaP™.
log, 2?=pm=p log, x.

BN, — 118 B i 2 TR 5 W ET B, S R M
B » 1.

@ log, %:é log, .
log, x=m, B z=a™

e Y=

log, ¥z =""= ;Ll_loga z

B, — 1 3 B K R R, 2 R ¥
B o |

BIED R log, VE+logs(5) 8t

R
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— 1\ 2 3
logz ’\/8 + lOgs (3-) = Igg2 22‘+ Iogg glf

log, 2+logs 1—log, 32

I

I
Wlew oo wlw

logs 2+ logs 1—2 log; 3

+
(=}
|
E]
]
|
l

N‘

_—_T
B 2 3 logs “‘”*d’ B .

log; Jaa(ch)? 1, a3(c+d)5‘
C

CJ'(

]-l

=1 {log, a*+log, (c+ D) —log, c?}

5
-—1{ log; a+llo (c+d);—210 c}
=% pa Ty 23] S5 C ¢
g 8 -~ 1
& F A % =X 0 {5

1. logv/1000-log +/0.01.
2. log(0.1)*—log ~/0.001.

3. log A\/%él-log 10.

4. logA/100—log(0.01)2.
5. log,(0.5)3—log, ~/16.

_ ¥
6. - logs V1254 logs 2°-+log, (%
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BT A SR

7. log %. 8. log i\/ sls— b) (s c).
8. loglp(l+n7}. 10. log “_4%/9(_;

11, log ‘:g +Z)) 12, gﬂl_l_ 5>

+t HEawWwEH

168, w1y s 3.142x 25.37 x 457.6 &4 fi§.
WO, ‘
log(3.142 % 25.37 X 457.6)
=log 8.142 +log 25.37 4-log 457.6
=0.4972 +1.4043 +2.6605 = 4.5620.
i 4.5620 = log 36470.
3.142 X 25.37 X 457.6 =36470.* |
EWREET N T
NO A"Log
3.142|0.4972

25.37 11.4043
457.6 |2.6605

Fr ok 68 36470 |4.5620
(BIE2) RTS8 fE

“iE RSB mOARE RREGN
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3 760—18.5
.3
7335 % e 913 X 760,

o B 273 760—%8.5
m 2=T3.35X sme o135 X 780

_ 273 7415
=73-35X 5573 X 760

s, loga=log 73.354log 273 +flog 741 5
—log 294.3 —log 760
=1.865442.4362 1-2.8701 —2.4687 — 2.8808
=1.8222=log 66.40.

r=66.40.
EEEHEY AKX T
NO Log
73.35 |1.8654
273 12.4362
7415 |2.8701
PR I PRTY
2943 |2.4687
760  [2.8808
5 B 5.3495
= 66.40] |1.8222
28 — - X
® T 2% KX w9 i
1. 3.142x88.86. 2. 283.7%5943.

3. 256.5-43.47. 4. 6562--3.142.
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5. 143.7 X 12.05.

6. 63.28=25.52.
(73.3)% 8. (8.517)%
(4020)3, 10, (3.142)%

11, 16.1%X(2.72)2 12, 3.142% (1315)%

13, %%% 14 8.7514;0%361.

15, 786:8%40.04 16, 47£700%2135

1500 6774

169, o035 sBmmES -2 WIS WwBYR
0.5441,

s log 0.035 = —24-0.5441.
HEBEEEMRELANFUFRERS
log 0.035 = —2.5441,

i BER log 0.085 =2.5441.
BELEOARER IR RARBEELERE R
95 4% 31 8 & 0,

_0.7361% 0.03715
I3 T=—g gvoer7’ X &

NO Log

0.7361 |1.8670
0.03715 | 2.5700

A F 2.4370%

2.165 ]0.3355
0.8717 |1.9404

5B 0.2759%
“z: 0,01449 2.1611
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(EH O EEInR’EWEENELISL
@ #HEOMIFEmMEEHELIF

B

GBS R Ny 4

- _ 1

= “=Noomr
1

31} log x=log \/m

=4(log 1—log 0.0717)
=1(0—2.6555)
=1(2—0.8555)
=1—0.4278=0.5722.

s, x=3.734.

666.6 % 0.7317

0.0861% 2.650 X ¥

wrEs vy

NO ‘ Log

666.6 2.8239
0.7317|7.8643
5 F |'2.6882

0.0861/2.9350
2.654 |0 4939

5 B 1.4289
L 2]3.2593(
i
y: 42.63 | 1.6297

(B g5 63 p=3750, vs12f5, *® pot T
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z=polTL

R

J:Aij log z=log p+log »*™
=log p+1.71logv
=log 3750+41.71 log 12.6
» =8.57404+1.71 X 1.1004
=3.5740-}1.8817
=5.4557.
s prtT=285600=286000 B] = fr I 5=,
B B H B K (0.55)7=2.718.
log(0.55)*=1log 2.718.
.. xlog 0.55=log 2.718.

. x=log 2.718
e log 0.55

0.4343
17404

_0.4343
~ T 0.2596°

s log(—=z)=log 0.4343 —log 0.2596
=1.6378-1.4143
- =0.2235.
s —x=1.673
o z=—1.67 B = B

28 — - +
 BHEBETAER:
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1. 4/323.%. 2. 4/32.37. 3. «/3.1237.

4. &/5375. 5. ~/527.5. 6. ~/52.75.
7. -/5.275. 8. /52750, 9. «7/5.275,
10. /3. 1. v/2. 12.  4/20.
R 570.2 3/3X762.8
13. 5/1 0. 14. V3w 5. A
16, A/ 2763%372 17, 3/20.07%51.37
: 5.437x 17.81 ) 14.72° % 2.854°
3,98.77 X 2.452 35
18. 4/ 1079 2 30.05° 19. 2%3.142% 399"
764.3—14.6- 73
20. 704X e X gmsrim g =7

. 2.873 X 35.97 X 273500
2L WE g 19.05%805

22. s=%gt2,‘ 3 g=32.2, t=20.5, K s. »

23. M=pr*, (i) p=80,r=1.025,n=2, (ii) p=93.75,
r=1.03, n=4; 3k M

U RMERERI Y FLEER B RER
r=5.875 ~F, w=3.142, 3 i= 1 Tt B 7.

25. 3% & & fr#

(Z+461} Xv
7T+461

@ #=700, T=1100, v=1050; 3k 7.

u

() V=770, v=1000, T=1200, %k %

26. V=

¢
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w10 10 72
2. f= 2240 W W X
*®
98. V=m(R2—r3), R="74.35m.,r=42.63m.,1=132.8m.,

T=3.142; *k V-

s(s—c)
a=y 252 G—a)(5—5)’

s=Ha+tb+c), a=23.56, b=4.75, ¢=5.33; k& A.
30. V=wl(x®—y?), @) Kk = (i) y=13,1=3.6, V=610,

=7

w=120, W="1.5, V=2400, S=19.8;

2 8 - Z A
BT A S
1. 0.3594 % 25.82. 2. 0.0587 % 2.078.
3. 0.7836%X4.774. 4. 0.8532-9.761.
5. 0.08532=97.61. - 6. 9761-=-0.08532.
7.  (0.0227)2 8. (0.6015)2 9. (0.03714)3
10. 4/0.03571 11. - 4/0.3571. 12. &0.3571.
1 1 - 1
T . 5 .
13- 72.64 14. 3.142 1 0.7071,
3 1 ' J 1 af 1
16. \/ 85.77" 1. 0 2544° 18. 0.0017"
19. 0.5712X763.28 % 0.0715.
20. 42.73%0.70562 ¢ 0.0086.
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g1, 0:0361%0.05715 op, 93-84%70.34
" T92.265%0.0777 © 827.1%x256.2

03, /886.6x0.7819 s 8 _ 0.07624

0.0061% 0.654 - V3142 %27.05

26, W 6O B B RN IR R 160 B AR o T AR

_ l
t=2%3.142 % 980"

EmEE KK

26. 'A'=2 w242 wrh, »=0.36, h=19.75, k A. Gk ¥ 5
4 % E R

27. V=%ard, & V=1, k

28. ' c*=3082—2abz, «=36.2, b=42.1, x=0.7135, K c.

29. SABW=BWRES D c s=atbto), Al
TR A=Vs6—a)s—b)s—0), ¥ o, b,c BT | @

£ Bk A
@ 3, 4, 45 ~F, @) 6, 8, 9 & 4,
(i) 76.9, 93.1,53.3 R, (iv) 0.927, 1135, 0.675 2 .
30. a=25.7,5=33.5,0=304, s=Ha+b+a); k 42

A =D g g o0 = e

A B AR

lW;ﬁﬁE%%ﬁﬂﬁ%ﬁﬁ#%ﬁﬂ
okl P LA FASL G E AR E — SR 6N B
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P 5G %4% =P 5% %0.04.
M I T ET L
P IC 4P IC %0.04=PF 5¢ % 1.04.
B ok & 730 SBAE R A% W FL B — R 0 R A
B 730 55 ¢ 1.04.
= P=730%1.04. |
HI 730 5 X 1.04, 45 FI 4% o4 B I, 55 = 42 #2 a0 R
B 730 5o X1.04X1.04=v730 5T % (1.04)3
FiLL, 730 SEAEFA%G B AE ~E %K AN S
T 730 5% % (1.04)%
WA, 130 BN WBHES SR AMM
B 730 55 % (1.04)3.
T 73C S5.48 I 4% 60 B I,7E n 42 4% 89 2 B A B
730 3¢ X (1.04)".
Rl 4 48, p 55, 45 F v % 64 R F, n 4F 69 A FA B

P 5 x(1+Tg—0)".

(B EE) sk A & 260 50,48 FI 24% a4 48 I, 14 42 gg %
Fi 1,

— _ 21 \14
AFAM QI =207 x<1+m

=260 3¢ X (1.025)1,
.~ log @=log 260-log(1.025)14
=log 260-}-14 log 1.025



g+ btE BEMEHBE 71

=2.41504-14 ;( 0.01072%
=2.41504-0.1501
=2.5651.
P=367.4.
2 1 1 9 367.4 5%,

170, sspmme i, &2 m R 36 B
10 A0 100 RGO B E ML R RS RS ML
FEFURENNBES L ARTSHRT LY
. | |

4% B U0 fr B E B 69 A5 R, W B U A A A Bl
Y kM, EEPEAOEEEO LB HES
=8 1% .

B 8 — - A

1 Z4 375 4 H 20% &9 4 A, 20 48 69 A& F) A
25 TP (kA B 18

2. %k 1250 554 F 4%, 6 4% i B L,

3. 3 Ak 3500 5%, 4E FI34%, BAE MIEAL3 &
B 2 2 & Y

& 4R FI 4% 69 B FLEE & 40 4F R 1B S AR 450

5. 4 F 33%, 11 48 48 69 4= F) A1 22.3500; Bl A& &
%

cEE EESBREAAEREARETT 6
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6-%¢#ﬂ3%%ﬁﬂﬁ$$§&%&tﬁ
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1. EBEHEE:
M + (plus)
- {minﬁs)
~ (difference of)
%, - (multiplied by)
% -, — (divided by)
B8 ¥ (nthrootof)
2. B4R & ek
& A = (equal to)
K R > (greater than)
AR << (less than)
3. &%
##% #8 —— (bar, vineulum)
& ( ) (parenthesis)
# 5 [ ) (bracket)
#HH { )} (brace)
& BEFE ¥ B

Y ME
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&% .". (hence, therefore)
A .- (since, becaus.)

B 3% % {7 ¢ (.he unif of imaginary ramber)
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3

— 2 3% Linear expression

— & ¥ 8 3 Equation of the
first degree

— 58 = & HF %2 5% Simple equa-
tion

B

= Z%& 3, Quadratic expression
ZRFER
= & % % 3t Quadratic homoge-

neouns

Quadratic equation

= 385X Binomial expression
=3¢ 5% Binomial surd

- =
=

=3 3¢ Trinomial
= F 8 3 Cubic equation

| F

% &% Inequality

ixmask sud

A I Mean

| & W Commeon ratio

Z 3 Formula

& B Bi(X) Common factor

#% Common difference

1 HE
- ¥ B(:%) .Common measure

5t Element

4 F Numerator

4 # Denominator

5 BGR)

5 5% F 82 3 Fractioral equation

4 #% B X Factorization

F+ & Ascending powers

4 ¥t To vary inversely as

B +-k 8 =#fH7R Pasealstri-

angle

Common multipie

BB

Fraction

% £ 5. Fquation, The equation of

condition
¥ 82 3 > % Side (member) of the
equation
F 8 Xz Rootof theequation
* f& By Index
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1 Ratio

W % Proportion

H: ¥ % Proportional

H: % 1 35 Proportional mean

W8 % 3 Elimination by com-
parison

¢ Bt Literal equation
i =F

& A i ¥ 3 Elimination by sub-
stitution

4% &r Algebra

4% 8 =; Algebraical expression

4% BL 3L 8% Algebraieal sign

4% B¢ 8¢ Algebraical number

i 8 18 Bt Algebraical function

im 3  Addition

fu 3% %% 3% Elimination by addi.
fion and subtraciion

g% &3 Biquadratic equation

Z 55 Square

=Sy #E Square root

F B Mean value

5 3] Extreme

sk %138 Unknown term

5% 4n Bt Unknown number

% Lash term’

A& 4& . Principal

A F#H Amount

FE 3K Positive term

iE #¢ Positive sign

iE $#. Positive roob

B B3 1% B & A& (F)

iE\ﬁ Positive numbsr

iE # To vary as

F J& ¥ & & Inconsistent equa.

i tiony

i % Cube

i 5 # Cube root
7~

z

X

z¢ 5 Point of Intersection

#£ g5 ¥; Conjugate expressions

;é@ﬁ%gﬁ Conjugata complex num.
bers

4 & To vary jointly as

fﬁ] % 3B X, Surd of the same order

[ 53 Edquivalent equationg

Fl #§ 7§ Like term

% 4 R Similar surd

Bi(:X) Factor ’

4E & Annuity

% 3H 3, Polynomial compound ex-
pression

# # 4k Rationalization

% # & ¥ 5. Rational eguation

# # 3 Rational expression

HHE J}ﬁ- Rational roof

# # 3t Rational number

& Degree, Order

W 8% ¥ Bt Convergent sories

47 5] 3 Determinant

+ =

&] 3 3% Discriminant
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# §& Interest

#} & Rafte

E Base

&£ 2 3 % Perfect square
& 12 Codrdinates

& E gk Axes of cofrdinates

A

B §; Fuuction

#H Sum

% % Definition

% i Law, Rule

% 8t 0Odd number .

&5 ?’{F g2 Symbols{signs) of prop-
erty

# R/ Rule

¥ F &8 & Linear eguation

& & 5% Linear expression

sE il 4§ Approximate value

=

=

L

Coefficient
Antecedent

Consequent

% B
B H
#m
HER
i% %8¢ Index, Exponent

wEHEN
‘tg &3 Identity, Identical equa-

Parenthesis
Law of index
tion

' % Table
H 1§ Negafive term

HE
H#&
B
=

Negative sign
Negative number
Descending powers

Pirst term

+ =

2 ¥ Involation

5 K(W) Multiplier

I ¥ Multiplication
&K Product

& %% Multiple

8] #4(5%) Reciprocals

ff Value

B 25 Origin

B’ B3 5% Expansion

¥ Difiference

# % Elimination

# Root

# 35 8 Index of root”
# 3% Radical

% B¢ Progression, Series
% 3% B0 Minuend

% F B(z) Moulkiplicand
# B B(zt) Dividend

Ef g% Sign, Symbol

ER Z= 5 Complefing the square
% § Division

B E8®HE

Divigor

+ =

i 1% ¥ Mantisss
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B oo #EEH

{% B TRven number
B B(z0) Quotient
[5 % Problem
% B # Common logarithm
% ¥ Constant
% %38 Constant term
B % % 3 Reduced fraction
¥ 4 Condition
# # R4 Conditional inequal-
ity
# YH Transpose
3& i 0 Continued proportion

3% % B Continued fraction
+ = &
—_—

8 4 Unit
K #] g Simple interest
#% ]  Geomefry
% ] b BE@E) Geometric mean
& i % Bt Geometric progression
{geries)
= & 5 8 Least common mul-
tiple
A %X Lowestcommon mul-
tiple .
&k A ¥ 8 Greatest common
measure A
£ & & B X Highest common
factor ‘
BE & 41+ Lowest eommon di-
visor
& 53' 3; Irreducible fraction

¢ 38 3, Irrational expression
4% 7 #¢ Irrational root

4x 5 B Irrational number
4 8 5 38 5% Irrational equation
4 %5 $% 8¢ Infinite series

i 4 IR & Infinity

& ¥ Sublbraction

#% Bt Subirahend

% 80 #% B Divorgens series
B # Imaginary root

B # Imaginary number
e Equality, Equation
LHEHEERTEE
EEHRHAERER

3B %) 7§ Absolute term

& 1§ Absolute value

32 8 K & 5% Abshlubts inequality
gh " Axis

&  Quantity

Ed % Evolution

3§ Term

38 8 Number of ferms

+
& B Limit
% B Limiting value
#%  Solution
#E & Operation
MOE 45 Symbols (signs) of op-
eration ‘

@ {f 3 Lower term
2 Zero v ’

=
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+ m

B Figure

B #& F &8 % Craphical solution
of an equation

T8

TE

£ 8¢ Logarithm

& 45 Arithmetie

¥ % & By Arithmetie (arithmeti-
eal) progression (ssries)

4% B $OK) Arithmetic mean

2 #¢ Complex numbser

Real root

Real number

% % =, Homogeneous expression

# % F %2 3% Homogeneous equa-
- tion

+ 2 B

i J8 Additional root, Extraneous
root

£; Number

& % F 32 5%t Numerical equation

#; ¥ Numerical value

& 22 Mathematics

&t 1% 8t Numerieal doeﬁic"ienb

EERCE ()

26 #ii % Bt Harmonic progression
(series)

Harmonic mean

+ X &

#, Power

#% 5% Integral expression
#8355 & = Integral equation
%% % Integer, Integral number
5% °r 25 8t Independent variable
& 3 5 Monomial

15 36 B 3% Monomial factor

&/ Product

8 B0

Remainder

+ +t =

fif %1% Simple radical

#% 4 BY(3%) Complex fraction

B 3% 5 72 5% Simaltaneous equa-
tion .

B 7 — &R F B X Simulianeous
equation of the first degree

B 3 — & F 7 5% Simulsaoceons

quadratic equation

+ A B

Wi Check
+ A E

B {2 % 5% Symbols (signg) of rela-
tion

—+=%F

i B Variable
;ﬁ Bt & Variation
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